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mldeguemd : (1) ealoajenseoqilon @oSlwyns MIeMMIaIQIono al@lerOUSdNd.
Q)OO &laljo CaloNOIRYHBIOMBHB:IT a00W MV)a]d6e 00w
NITWOQ|S)d.

(2)  @g)93®IoMio @ESIAIEWISNIOMIc BhOJEa]d MIaIc®I MlOETaies
DalD0 (@0 ©ale@OWlan)dh. 2fl(@6BWRD AUOPIAIOM  6alddaUl®d
£aleQoUllHe0o.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

@3o - I /PART -1
®Olaf 1 (i) g0 ColoRETBRIN0 OB MNTdid. 20x1=20

(i) ®mMIClHHIM moa’ EmEaBEIGMIMM a@Rnljo cWIKlol HEMWO

TOOEMMSIOT  HODONUL0 60alaHMd CHIAIO af)PIMds.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1.  a0alEy MldLIMEBION ©al2emomonios :

(@) @O BOVaUGD (b) eemed eooenlladmy
() @oco Mo (d)  avomy@dTem

The author of scarcity definition is :

(a) Alfred Marshall (b) Lionel Robbins

(c) Adam Smith (d) Samuelson

2. aldOMUAIN@ WMALQIAA 6]
(@) @oUWlL00 WmMAIMO

G

MOEMYAIRMO®Q WMALYAIMA
()  &algdlaum wmalaimn

e

BHBMUOE WMALYIMIN
Traditional economy is a :
(a) Command economy (b

~

Monetary economy
(c) Subsistence economy (d) Market economy

3. @IUO@Y®BMRD, MVDDHONEBIED, @RIV ag)ila :
(a) ©alEWINARRNIWIOS AUBYB:06Mo
(b)  EDAUYPOVWAIWOS AUBY|B:06Mo
(c)  LVERMY MVOWMETBOSWI0 BNVOUIMEIBRIOSWIo AUBUHH06Mo
(d) eaenzMOIOS AIBYlE0eMo

Necessaries, comforts and luxuries are :
(a) Classification of utility

(b)
(©
(

d) Classification of wants

Classification of demand
Classification of free goods and services

4.  ©alBRIHM, NUIBSIQWON) :
(@) oo = queeqgy
(b)  AWlmog > queegy
() ©al05Mauy@ Qllel —nodma alflel
(d MVn=TVn-TVn-1
Consumer surplus is :
(a) Demand=Supply
b) Demand > Supply
c) Potential Price — Actual Price
d) MVn=TVn-TVn-1

o~ o~ o~



00REIMN@ HaIGINEWIUY® al)ERYMOBBNUOWD !
(@) @BOD HAIGWOINEWOIU® HWDIM EISETINM]

(b) @DOD HAIBINEYIUVL® BOWIM ESEBBINM)

() @B HAIBRINCWIN® R0 @IOY ag)ETINM

(d) @6 HAIERINEWINY® @R alE@OUW! ag)@®INMY

When marginal utility becomes Zero :

(@)  The total utility starts increasing

(b)  The total utility starts decreasing

(c)  The total utility reaches the minimum
(

d) The total utility reaches the maximum

al@oglen HWda] H06MleeM®

(a) almodd #dalleer pdmm enflazalmodd
(b) almog &dleel @ovom enflaznnlmomd
() oo Ao ay@lomeBaood

(d) @re®m Wlmom Hdallen 2leiIm@mOCd
Increase in demand is shown by :

(@) The highest point on the demand curve
(b)  The lowest point on the demand curve
(c)  Shifts of the demand curve
(

d) Movement along the same demand curve

lmo@lo @oEMYOMY EDRIDME® HMUEICIOBIBMIOMRD -
(@) X, Y quowmessmid aldhe6d006m)

(b) X, Y quowmes3md &s)@ymOQ) aldh@d6XI006IT)

(€ X, Y quowmemsides) eniamualg

(d) X, Y quowmenswd aljdsmoeny

When cross elasticity of demand is negative :
(@) Xand Y goods are substitutes

(b) Xand Y goods are perfect substitutes
(c) XandY goods are not related
(

d) Xand Y goods are complementary
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8.

10.

aoamelm enflazafled :

) 860 80 el (alenIRImdB:)M)

) @DAUNeAIS @oa0l=all®osmo 621Qeals @oanl
c)  Meeg] BHdem almdmd 0T Gaodlesnm]

d) ealewgldo

At the point of equilibrium :

a) Only one price prevails

b) Quantity demanded =Quantity supplied

c) The demand curve intersects the supply curve

(
(
(
(d) All the above

92/06Mo Mgaflafleemae

(@) allel eeE:mogo (b) qvoesELailes llay

(€) ©alCWINEWINNOWIONS MOWo  (d) ©alEYINEIMYBOWIOS ldomI®)
Production refers to :

(a) Exchange value (b) Technology

(c) Destruction of utility (d) Creation of utility

60} (12leow QIMIQY TVeBoEEXMD :

(a) ©LPBMETIE CLISHEIBAMOS QYEYY HISIBLORND:GD @Ol HeImy
(b) @RI EOETM CGOAUMMO EIEBISIENINM]

(€)  al@@etd aVlles@lenymy

(d)  VOAOMETBUWD BFILIOHEIM)

A successful entrepreneur is one who :

a

b

) Decides different combinations of factors of production
) Pays the lowest wage
¢)  Accepts innovations

(
(
(
(d) Avoids risks



11.

12.

13.

14.
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©E00@ mudld oelo RIBYDIBMM®) BOUIBEBMUIOYI6M)

() TVC/Q (b) AC/Q () TC/Q (d) TFC/Q
Average fixed cost is obtained by dividing :

() TVC/Q (b) AC/Q () TC/Q (d) TFC/Q

eam @AVI@EM OO ag)m Allgleiomy.
(a) Aldeaid0el LVEdNG Rl HAQT  (b)  (@EOMVIBIR! VAIWDA! MYELY EAOT
()  ©OONGEl Bl BHOQT (d) oodn@ myely AT

is called the planning curve.

(@) Long run average cost curve (b)  Short run average cost curve

(c)  Average cost curve (d) Marginal cost curve

60} MUNdalMo MATRIM® CMSYTE @GR BOB)BMUOWD @D6).

(@) MR=AR (b) MR=AC () MC=MR (d) MC=AC

A firm can achieve equilibrium when its :

(a) MR=AR (b) MR=AC (c) MC=MR (d) MC=AC

NAWOW AGEMBTIE UIDOM HOOT

(a) ®@oBYHE) 2Iml@INMY (b) eloenlo

() oealealss aldlim) (d) alovailmo
Under perfect competition, the demand curve is :

(a) Downward sloping (b) Vertical

(c) Upward sloping (d) Horizontal

[ @032 1)00/ Turn over
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15. 9| AYElESD®RINS MANEay Mo
(@)  BYEDB MOBVOY0 (b) WIS
() VAWOIW MOEIVOY0 (d)  BIEDEHOUHHIUW00
Product differentiation is the salient feature of :
(a) Monopolistic competition (b)  Duopoly
(c) Perfect competition (d) Monopoly

16. 20B(E0 MOMIMBTIBU0(ROTIOD D6y (al@Mo6eNT :
a) alellvo@io alemlo
b)  WMaIEMO® MO MOMIABIH N

(
(
() QUE@OIMOo HmOFlelo

(d) alleiio 8930150

The central problem of Macro Economics is :

(a) Interest and Money
b

(b)
(©)
(d) Price and Output

Monetary Policy and Fiscal Policy

Income and Employment

17.  am@om dfléepeasion edle mlavomo Aldle:alesndmd oM Oalewously o)

(a) ©OBMAL0 Oalello

(b) Moo ®CIeO

() ©alERIMA0 MledHalnllo

(d) em0E®m almd@io oo™ alldmoemaloe

To explain the simple theory of income determination, Keynes used
(a) Production and Expenditure

(b) Multiplier and accelerator

(c) Consumption and investment

(

d) Aggregate demand and aggregate supply



18.

19.

20.
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7
£aIBBIW (alUd@®Mo 0B BHAlH6ME ©0 o ®OeNas
ELICN@OE).
(@) QUOIE@OIMo, Me(® WMo (b)  ealeil, MlesHalo
() ©aleBdWo, AUMMOIMo (d) eateiql, averll® wmo
Consumption function explains the relationship between and
(@) Income, Savings (b) Expenditure, Investment
(c) Consumption, Income (d) Expenditure, Savings
WMo MIQOBHM@) :
() @3 6NI0®S (b) VB0 cOELE!
() GB(3 MAIMODNG (d)  momnom waiedendd
Monetary policy is controlled by :
(a) Central Bank (b) Private Sector
(c) Central Government (d) State Government

alj®yo @RWlaHOl®m euWRAIE G060 AUBAUQII0 HOJ®IME B0}
@OEEMMMNIEM.

(@) el Qldatto (b)  @OHHGANH QUdaHo
(c) @oslaundm QuUdadto (d) aomuIEDIE QUdaHo
In zero based budget every year is considered as a :

(a) New year (b) Academic year

(c) Base year (d) Financial year
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8o - II/PART - 1II

62106j0 30 MIBUMWAROIWIo ORBOQ|S OB a@e®BILle oy G2I0GYBBWLHE)
HODOODLIOE>. 7x2=14

Answer any seven questions and question number 30 is compulsory.

21. @O0 @ddarelled MIMIABH0e0(RY MldALIME (IO HEeE:.

State Alfred Marshall’s definition of Economics.

22.  @OOUNYBHOWIOS BSO06METBRD ag)OTmE]d0?

What are the causes of wants ?

23. adlaoa@lem allalw®eo e@le® ag)emg)oo?

What are the types of elasticity of demand ?

24.  GENIDHE) EOVOUM BalOWAR ag)MOSRINT)?

What is break even point ?

25. ey aflealaim@slon oes AlQINNGW@ ag)eTmRjoo?

What are the two conditions for price discrimination ?

26. ©6BHDOY MVMIOBY ag)TNOOLINT?

What is transfer earnings ?

27.  eUPmil- &0 ag)(MOeRIT) ?

What is quasi-rent ?



28.

29.

30.

31.

32.

33.

34.
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£alERINAMIMES MOBZIM@ (IAIEMBQINS AVACUIB)0 MNBDB)b.

Give the formula for Marginal Propensity to Consume.

A lBM06M &S MI(MMEM BaldOMENBUD ag)eTmEJ00?

What are the instruments of quantitative credit control ?

&latoan.eavelwmon @oellowaslengs Mlealeins aldalaimo (@IqRoalaed..

State the Definition of a tax According to Prof. Seligman.

B9o - 111/ PART - III

8210Gjo 40 MIBIMWAIVWI0 9WPBHSIOW] a@e®eslelleo oy Gol0GYEBWDHE)
DIGOIAINEI I ES 7x3=21

Answer any seven questions and question number 40 is compulsory.

@co Moo mmuemlen MdAamEDIM af@leowias Aladumesw
a1O1GUDIUH6) .

Examine the criticisms against Adam Smith’s wealth definition.

ol gy VMG AQIMNWIOS !IEMETBWD ANCE]EO1H6)bs.

Explain the merits of a mixed economy.

60} ©2|aM MIWI®O AT Vg2 flafleeyme ) ?

What does a production possibility curve refer ?

Wloanad allewowocomEIM 60} §2101Q HClaf ag)Pi®3e:.

Write a short-note on Giffen Paradox.
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35.

36.

37.

38.

39.

40.

41.

10

HEMUOG HH0LIRISEHIE quamyelm Aflel afldep@leamnme) agemem?

How is equilibrium price determined in the market period ?

(MOMOBEEM (aIOIBBHMEBUWD ag)eTmRJ00?

What are the functions of entrepreneur ?

BYOBB0UB00 M HNMBIMES BB ag)emejoo?

What are the methods of controlling monopoly ?

Aleosmemlon aodelmad ©ejoam MIALIMDETOM MYMDBHWD ag)eTmLO0?

What are the limitations of Marginal Productivity Theory of Distribution ?

eIgl® Aoy@om MIdgPETlOM @l lELIMEBIEM @MIROMETBUd
Qg)emLJ00?

What are the assumptions of Keynesian theory of Simple Income Determination ?

eU0ASAd MMIBOOBTIOM enRALIMNIGEWD ANlKoE]E:@lo6)w:.

Explain the difficulties of barter system.

B80o - IV /PART - IV

Q)R]0 G2I0BYIRWWHN0 OOBDOENPIBID:. 7x5=35

Answer all the questions.

()

smoatyelE®IOM  qVIEOAIMBRI0  o@O®®LIL0 MO  !EMEBRIo
Q0B >0 0621

@) 1Md

2N(@ODOHR MaNIWEEMINS AR HHIM MOBE]IMNE HalERINEWIWI®I
Moo QlQIGlee))w:.
Explain the features and any four merits of socialism.
OR
Describe the Law of Diminishing Marginal Utility with a diagram.



42.

43.

44.
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COWIEM®) AT BRAINLOMEBINNG BOMNIMOMETBUD ag)OMRJO0 ? TVOWOBEM®)
&S alalMo  9alEIWIHNIM  HalBRIAMILHBINS  MVIMIRIM®
100G B> @16)85.

o OT-TE A

aloo@lon oely eqle:®wns @asneleam calolad dlol allwemowf
0o E 0165

What are the assumptions of indifference curve analysis ? Explain consumer’s
equilibrium using indifference curve approach.

OR

Explain the point method of measurement of price elasticity of demand in detail.

aflmod dlwmo (1RO lens. lmond Mwaddlenn a¥lne:w ageamejoo?
@ 6L 81 @D

2 waesiof etowemmons mameim alleiwes afldgp®o allvodle@lesds.

State the law of demand. What are the exceptions to the law of demand ?
OR

Explain the determination of equilibrium price with a diagram.

£24)BMVIBOENEM g)MIBLINT? @OCLWOS MVANBUHU®EWD QNOUGIEH:.
@ 6L 81 @D

60 OO IMEBIE (UM allaflw melemdd ANvoGlecleed:.

What are isoquants ? Describe their characteristics.
OR

Explain various costs incurred by a firm.
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45.

46.

47.

(@)

12

ElWOW MOBVYETHIE (OMBOLIMBE Alleiio B95aliSie lden@ilesimmae
ag)eomBem?

@R 1@
HIODBHOUBHIN  ROEVOIEWI® aflei®io 895aliSie MdeP@IBeME
l0oGle@lee))ds.

How is price and output determined in the short-run under perfect
competition ?

OR

Explain the price and output determination under monopolistic competition.

RENT 6 dlonodaullm ailawdoamo aldleuadulleeids.
@R ;1M
eg. enll. ecvgllom semiogniao Alladrmotne:n0@fl aldleuoouslee)s:.

Examine Ricardian theory of RENT.
OR
Critically examine ].B. Say’s Law of Markets.

alem@mlen) al@lmoem alaboamo AlaIdlE..
@R ;1M
OMIEBIE NN aRemlele @oaR ©EGUeMEWD AUGlB:0loeb:.

Describe the quantity theory of money.
OR

Explain any five of the objectives of fiscal policy.

-00o0-



